U6D2 Domain & Range per8-9.notebook

November 22, 2019

HW 6.1 Answers

Go to back of HW 6-2 instructions. Circle 'Determine if a

1. no; 3 repeats

function'. Then add: State yes or no for each.

After checking hw, do the warmup in your 6-2 notes :)

2. yes
3 il/es 9. 1(-3) =5/7
4. no; fails the vertical line test 10. k(-3)=9
- e
. A . . . . N =n
6. no; C|_rcle, fails the vertical line test 13 g(n-1)=4n2- 4n + 1
7.hi4) =14 14 k(2n + 1) = -6n - 1
8. g(-2) =-7

Jan 3-8:24 PM

function.

NO. 3repeats

5. yzlx-2|+1
\ yes

Evaluate each of the following:

7. h(x)=3x -2, find h(-4)
h(-4)= 3(-4)-1
h(-4) = -4

2"*1 find £(-3)

10:3)+1

3-3)+1

9. ()=
F3 ) i

3
f3): 2

-—\._\

In1- 4, determine if the relation is a function. If it is not, explain why it is not a

1 {(3,2),(-9.0),(3,-3),(1,-2)}

2 y=x-1
Y

4,

NO. Fails
vertical

line
fest:

6. (x-12+(y+472=9

NO. Circle.
Failsvertical line test

8 qg(x)= x2 3f|ndg(2)
g 2)=-(-2)~3
4 -3
=7
10, k(x)=2V1-x+5, find k(-3)
K(-3): 2][#37+5
K[3) =2(2) 5
K[-3):9
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11, f(x)=2x -5, find f(n + 2) 12. h(x) = (x - 1)2 + 2, find h(n + 1)
fn+2)=2/n41)-5 h(n#)= (n+1-1)*+47
f(nt2)=1n- hin+l) = N*+2
13, g(x)=(2x+1)? findg(n-1) 14, k(x)=2 - 3x, find k(2n + 1)
9(“-‘7}(2("'2: ) K+ =2-3(+1)
O(n-n =(2n-1 e
g(n—l)=2h(2n—\)—\(2n-l\ Klznst) = =i
g(n-1)=4n*2n-2n+|
o(n-1) <Un*4n+]
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£2%3
Warm—Up: f(x) = -x° + 3x find f(2x - 1)

2- —_—
flox-1)= :{gé;@ﬁ;r 30x-1)

éfl‘ffz; Clox-1) =~ 4%~ T+ bX= B
(2x-N2x-1) #(2)(-\) - _qx7-+lo_)(_j
IX(Ex-1) =1 (2%

(hy2-4x+ |
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Unit 6
Day 2

ange

Jan 3-3:41 PM

Domain -The domain of a function is the set of ¢l x-values (inputs),
independent variable

Range - The range of a function is the set of @ll y-valugs (outputs),

dependent variable

\ ——>S£(x<) —
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For the following relations, state the domain and_range.

—

De’rermine@s of ng) if the relation is a function.

1 {(gTZ), (5.7),(1,4),(9,2), (; 7)}
Domain: 2 2,5, 1, Q‘g M
Range: 22, 7, (3
Function? _No , X=2"2 &nd /

2. {(6,2),(3,5),(9.0),(5,7),(8,5)
Domain: 2(», 2,95 g T
Range: 22,5 .0, i
Function? Ulﬂ)-

Jan 3-3:43 PM

3. {(1.1),(2.3).(3.4).(4,2),(5 1)
Domain: 7 I, 2, 3 ¢, S3
Range: 21,3 423
Function? _Y/.
4. {(81).6)2),(6)8).@)7).(-8,3)
Domain: _Z b, 9;‘?3
Range: _S(, 2.5 2,3 X
Function? b, b 2 [a~d§ 9> -4
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[ iwo Types of Notation: )Set-Builder and Infervgl o r’b‘—' JI,.J'—J’ O
27N

Lt
Given the number line graph: <— @ueE————————>

2 7
éeT-BuiIder)-) {x|-2¢x<7} -2&Xx &7
=)

Read: The set of all x such that - 2 is less than or equal to x and x is less than 7

L
rval Notation> Parentheses and/or brackets are used to show whether the endpoints

are excluded or included. For example,
[2, 7) is the interval of real numbers between 2 and 7, including 2 and excluding 7.

Jan 3-3:47 PM

C

Interval Notation Set-Builder Notation Number Line 6raph

®) 3.9 Sx|¢x<y3 om—
@ C‘l)S:’ \{XI-1<><55} 5 <—9’“"‘”‘“‘2-—>
m f)('l)(il or X 453 _oo%_%)oo

@ Cwloo> /{XIerR} \ —CP A AAAAAN A aiy O
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Find the Domam and Radge for e each granh—}\—‘S

- 7 fj?y A - !E ‘
ek f' | e

R SR
. :

Domain : (1, "O> Domain : (:ﬁ °0)

Range : E‘{/,OO) Range : (°° £2)
Jan 3-3:47 PM
y

1) \ :Ay /\ :I-]- enqeesquenap A e |
P ‘ A0 | _‘é
N 7  : ‘f"? :

\* P iA

\ X - ) *

582 o] L 45 Bt 5312 ,

TN RN
2N N>
£ [
- il T I I
Y ) 4
Domain : \ Domain : ( =3, L/ >

Range : Range : = C{)
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c<J
5) Ay 6) y
{ HE !
a ‘ NS Ved
5 KT
/ y.d
X % B X
q L]
NERY S : > SN ERARE!
f & - 3
L i
i Aod

Domain : C-—voOIoOB
Range : Lo, OD>

Domain : EJSI l>
Range: (=5, QJ
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A 8) A’
D <
S X —o0 - X
A B> € > >
4
3 k"""w—
¢ >
S— 5 & 5_‘
\J
Domain : (—-VS "{) Domain : _(=2°, &)
Range : (J)\',}.) Ranges (‘00',0)

(5)
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9) Bi"
1
3 ;h
4 Ny
X
< e
BR8P s . V4T .
et
Ml

Domain : _( - 3 51
Range : (=2, )
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Algebmicalllem types

(
17) Variable in the Denominator <

To Solve: Ser 0 bdin F0

Domain Looks Like: x #

Example: y=

-4
o~
27) Variable Under a Radical | X (73.1/

To Solve:
Domain Looks Like: x > orxs<

‘Poq"‘ ()-‘d-\Q

x="R

N ‘
|
LUy

\

v

Example: y= 2x-5 Sketch:
=SS O S
> S>3
2x 2 S
X2 %
Jan 4-8:06 PM

. (("Double Troublel
r—

Domain Looks Like: x> or X<

@ No Trouble 2 Nothing to Solve
Domain looks like (-e, =) or x € R

Example: y=2x-5 Sketch:

S| RS

- Variable Under a Radical in the Denominator

-
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DOMAIN TROUBLE

A x#o
X

> X7°
I O
— X 7
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